1+ In which year Awadh was annexed in British

Empire?
(A) 1852

(B) 1899
(C) 1766

(D) 1856

2. Which one of the following is not correctly
matched?
(A) Vijay Singh Pathik — Todgarh Jail
(B) Arjun Lal Sethi - Belur Jail

(C) Kesari Singh Barhath - Hazaribagh Jail

(©) Jorawar Singh - Bareilly Jail

3. Rajasthan Mahila Parishad was founded at

Udaipur in 1947 by -

(A) Aruna Roy (B) Indumati Goenka

(D) Shanta Trivedi
Jamnalal Bajaj was the one who set up -
(A) Jaipur Prajamandal (B) Mewar
Prajamandal
(C) Sikar Prajamandal (D) Marwar
Prajamandal
5. From which session, Indian National Congress
started to support Freedom Movement of
Princely States?

(C) Durgawati Devi
4.

(A) Nagpur
(C) Amritsar

(B) Haripura

(D) Lucknow

6. Who'was the Viceroy of India when the British
India’s capital was shifted from Calcutta to
Delhi?

- (A) Lord Ripon (B) Lord Dalhousie

(C) Lord Harding (D) Lord Dufferin

7. Under the leadership of which leaders was the
Kheda Peasant Movement headed?
(A) Gandhiji and Vallabh Bhai Patel

(B) Vallabh Bhai Patel and Vasudev Balwant
Phadke

(C) Gandhiji and Vijay Singh Pathik
(D) Sitaram Das and Vijay Singh Pathik

8. In which language was the first issue of journal
‘Ghadar’ published?
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% In Which Act, provision was made for the 9. yRA @ TIR T # uRag #, JUH R TP
appointment of an Indian member in the R wEw @ Frgfe @ wdEr fa
mo<m_.=2 General’s Council of India for the first aferfram # far mar?

“n_vi 4 . (A) W ufee sffrm - 1919
it ol o (B) sl s ffrr — 1909
() _am“ nM“”M_ >mu mmw SRRTRIG O - )
(®) Indian Council Act - 1896 (D) secita afRee s — 1896

10 With the efforts of which of the following, the 10 Frefefer % & forerd wardt @ ot 3B

‘Age of Consent Bill' (1891) was passed? Fac fad (1891) mRa garm?
(A) B.M. Malabari (B) Bal Gangadhar (A) fow. AraE@rdl (B) a1 TR A
; Tilak
() Harbilas Sharda (D) Mahadev Govind () fgem® uRer (D) wgred MiA= =TS
Ranade | .
- Where did Thakur Khushal Singh lead the 11 1857 fagie & &, IR FAA g A fea
rebels, during the Revolt of 18577 e faRifeat &1 Age faan?
(A) Kota .- (B) Nasirabad () BreT (B) RS
(©) Aauwa (D) Erinpura (C) Fraar (D) TRAgRT
12. Who wrote the ‘Early Chauhan Dynasties’? 12. 3l A SR B oEd § -
(A) G.A. Grierson (B) Dasharatha (A) &g, frds (B) Trey v
Sharma g
(C) G.H. Ojha (D) G.N. Sharma () g, et ©) .
13 Who among the following famous saints, was ~ 13. ¥ard & & areax Rl &, 97 ot arel uitig
born in Alwar district of Mewat region? Tad —
(A) Sunderdas- (B) Garibdas (A) g=ver (B) TiaeTa
(€) Laldas (D) Hariramdas (C) drereTd (D) gRR™E™
14. “ljlaas Khas' was established by - 14. ST @' @7 e fdhar ar —
(A) Maharaja Banne  (B) Maharaja Ajeet (R) HERTa 91 Rig 1 (B) Hewmon aiia R
Singh Singh |
(C) Maharana Sajjan (D) Rana Bhagwant (C) HERTON |owr Rig (D) 1o W= g A
Singh Singh s ]
15. Match the following - 15. pafera ifom —
Handicraft Product Place TRIR IATE EIE
(1) Badla (i) Jaipur (1) arEen (i) SR
(2) Namda (ii) Leta " (2) 7T
(3) Paw Quilt (iii) Jodhpur
(4) Khesala (iv) Tonk -
Code - .
(R) 1-iii, 2-iv, 3-i, 4-ii ~ (B) 1-iv, 2-iii, 3-i, 4-ii (B) 1-iv, 2-iii, 3-i, 4-ii
(C) 1-ii, 2-iv, 3-ii, 4 (D) 1-iv, 2-iii, 3-ii, 4-i (D) 1-iv, 2-iii, 3-ii, 4-i
6. which Ruler of Marwar did not accept the 18- Wvars & fbw W@ 4, yoal & afiar
suzerainty of the Mughals? PR & B o7
(A) Udai Singh (B) Ajeet Singh (A) 327 e (B) 3 Rig
(C) Rao Chandrasen (D) Rao Amar Singh (C) 9 T=eH (D) 19 3R R
1318 A
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17. sitaram Lalas was associated with -
(A) Rajasthani Dances (B) Rajasthani
Dictionary
(C) Rajasthani Folk life (D) Rajasthani Folk
art

18. Who is the Kuldevi of Bhati dynasty of
Jaisalmer?

(A) Latiyal Mata
(€) Avari Mata

19. Who was the last official ruler of Princely state

(B) Tanotiya Mata
(D) Swangiya Mata

of Bundi?

(A) Maharao Raja Ram (B) Maharao Raja
Singh Bahadur Singh

(C) Maharao Raja (D) Maharao Raja
Raghubir Singh Ishwari Singh

20. Where is Haridev Joshi Journalism and Mass
Communication University located?
(A) Banswara (B) udaipur
(C) Jaipur (D) Alwar
21. The main temple of which folk deity is situated
in Bengti village (Phalodi)?
(A) Tallinath Ji (B) Hadbu Ji
(C) Pabu Ji (D) Mallinath Ji
22. |n which district of Rajasthan the famous
Gurudwara Buddha Johad is located?
(A) Jaipur - (B) Sri Ganganagar
(C) Ajmer ’ (D) Kota
23. What is the name of the picture of _.o_m Devi
" made by Bhils, on the wall of the house at the
time of girl's marriage?
(A) Tehnisha (B) Mandana
(C) Phad (D) Bharadi

24. The memorial of which of the following is built
on the platform built near ‘Padan pol’, the first
gate of the Chittorgarh fort?

(A) Jaymal Rathore  (B) Patta Sisodiya
(C) Kalla Rathore (D) Rawat Bagh Singh
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21. e Wi (weld) § 59 Ao qa &1 g
Afz Rerd €7
(A) Teeii=TerGT (B) geqofi
(C) Trgsit (D) Feeirereh

2. TeER 9F SEs e & fea R A
JaRerd &? A

(A) FIR " (B) A TR
(C) sriR (D) Frer,
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%5 Match the List-| with List-Il and select the right
choice with thé help of code given below —

List-1 List-1I
(a) Govind (i) Devmurti Prakaran
(b) Natha (ii) Dwar Deepika
(c) Mandan ) Vastumanjari
(d) Kumbha ' (iv) Sangeetraj
Code -
(A) (a)-ii, (b)-iii, (c)-i, (d)-iv
(B) (a)-iv, (b)-ii, (c)-iii, (d)-i Wm

(C) (a)-iii, (b)-ii, (c)-i, (d)-iv

(D) (a)-ii, (b)-ii, (c)-iv, (d)-i
26. Which musical instrument is used during the
recital of folktale ‘Devnarayanji ki.phad’?
(A) Manjira (B) Chang
(C) Jantar (D) Khadtal
The tradition of Rajasthan, in which folk drama
is _umlo:«_ma.g the women of the house after

the groom's procession leaves the house, is

27.

25. «mwl_ﬁmwﬂl_ﬁﬂmﬂma?amﬁq&»md

T @ @ wErmE A q@ e IR -
G- A

(a) M= (i) Zarffet T

(b) =TT (i) g <M1

(c) U8 f

(d) BT

e -

(A) (a-ii, (b)-ii, (c)-i, (d)-iv
(B) (a)-iv, (b)-i, (c)-iii, (d)-i
(C) (a)-ii, (b)-i, (c)-i, (d)-iv
(D) (a)-iii, (b)-i, (c)-iv, (d)-i

26. GH-F IR N B B B AAT F

PI—HT 9rel T YA ¥ AT I 87
(A) wofiRT (B) 9
(C) 5=~ (D) edrel

27. oo A T8 AR, Rore e B AN @

WY T O $ 9% W B Rl R dle
A1y AT A 8, FEdwr g —

called - .
(A) Swang (B) Khayal (A) T (B) &Tet
(C) Tutiya (D) Rammat (©) gfea (D) Y=g
28. Which Sabha was founded by Swami Gopaldas ~ 28- |9 1907 ¥, T% § W MuTere™ 7 fog |r
in Churuy, in 19077 B RO Bt A?
(A) Bal Bharat Sabha  (B) Desh Hiteshini (A) T v w9 (B) < Rl e
o . (C) TR Wt (D) W T
(C) sarvhitkarini Sabha (B) Paropkarini Sabha ;
29. Who was famous as poet and painter Nagari 29 ®fd Td RErdR TFRIE™ @ w7 ¥ B9 TRig
. Das? o1?
(A) Krishnadev (B) Raja Sawant Singh (A) Fwreg (B) T W= fiw
(C) Vrindavandas (D) Rana Kumbha (C) grae™ (D) T T
30. Jaydayal Soni and Chetram are related to - 30. e il AR AR el € —
(A) Turra Kalangi (B) Jaipuri Khayal (A) i weft @ | (B) gl @ §
Khayal
(©) m:mu:mimz Khayal (D) Hela Khayal © el @ (D) del we A
31. with which art is Kripal Singh Shekhawat 3. Fud R T@Ed &1 gy 59 Ber 9§
related? 1
(A) Thewa Art (B) Kundan Art (A) o1 Far (B) Ht Fell
(C) Terracotta (D) Blue Pottery (C) 1preT (D) [ dfed
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Which of the following (Battle - Year) is not

32.
correctly matched?
(A) Battle of Khatoli- (B) Battle of Khanwa -
1517 1527
(C) Battle of Sammel - (D) Battle of Harmada
1562 +15S7
33. From which of the following archaeological
sites, the coins of the Greek ruler Menander
have been found? w
(A) Balathal (B) Ganeshwar 2
(C) Bairath (D) Ahad N
34. Who is the writer of ‘Futuhat—I-Alamgiri’? ﬂ
(A) Firoz Shah Tughlaq (B) Ishwardas memﬂm
(C) Aurangzeb (D) Dara Shikoh ¥
35. Who was the founder of the x&mmﬁm:.mn:mww
of Arts? o
(A) Sawai JaiSingh  (B) Maharaja Sawai ﬂ
Ram Singh Il o
(C) Man Singh | (D) Mirza Raja Jai m_zma
36. The south-west monsoon starts _.m:mm_.,ﬁﬂ
from Punjab plains by - —
(A) Mid-July (B) Mid-October
(C) Mid-September (D) December o
37. The Prime Meridian of India do not pag)
through which of the following state? - 2
(A) Uttar Pradesh (B) Madhya vanmm_._nnh_u
(C) Chhattisgarh (D) Tamil Nadu o
38. Which one of the following is not Smﬁn:mﬂu
correctly? -
(A) Mango Showers - Tamil Nadu
(B) Cherry Blossom - Karnataka mu
(C) Nor'westers - West Bengal nn“
(D) Bardoli Chheerha - Kerala o
39. The Iron Steel Industry centre located :ﬁ
coalfields is - MM.
(A) Bhadrawati (B) Bokaro —
(C) Jamshedpur (D) Salem

40. \Which among the following (Crop — Producing
State) is not correctly matched?
(A) Rice - West Bengal (B) Wheat - Uttar

(C) Tea - Gujarat

Pradesh
(D) jute - Assam

32. et ¥ 1 0 (3E

_ qt) < g

¥ 27
1527 .
1517
— (D) & Pl gg —
(C) |l BT J& — 1557

1562

33, ettt & W o qUETRE® R 3, A

e ey @) A A T €
(A) TTeEre (B) TOREY

(€) 1B (0) 3TE$

3. GETI- TR B TP P &
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35,y e i AEH BRI fBw
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Rign
(C) 7RI | (0) it et w1 Rig
3. Yo & e gere! § ARG 98 ge e
(A) Fem—gperrs (B) Wez—3raca’ |
- (€) wea—RadeR # (O R 3 .
37. yRT T W R fEfarad § A fea
I ¥ TE o 87
(A) STRUTT- (B) e
(©) BeiTe (D) Gfierrg
38. freffed § ¥ wiar T8 gafera e
& v
(A) T vt — g

(B) = wifeH — dbrled. m
(€) Ffdved — uf¥ad darel

(D) gRETAT BIeT — Byl

39. P &7 B U Red e SWIA AW

1
(A) wigrad (B) daRI
(€) STRIEYR (D) Jem

40. o # 3 PI—T (F — SRS ) TE
gufera el &7
(A) =rger — R (B) T — IeRwdy

qret
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131B

9 Page 6 of 24

4. The Kailash Range is part of - . e gEe R -
(A) The Great (B) The Lesser (A) & fesrera &1 (B) o fRwmerd 1
Himalaya Himalaya Sw m.v
(C) The Shivalik _ (D) The Trans- 2 (C) Rrarferd &1 (D) gra—fedrer™d @1
Himalaya o)) .
42. The Clouded Leopard National Park, is situated nﬂ“an. efie <igan I 9E, fret # @ frsr oA
in which of the following state? = 7 Rera €7
(A) Madhya Pradesh - (B) Tripura Mm (A) wezrgeTr (B) g
(C) Assam (D) Himachal Pradesh (C) arem (D) femreret uew
43. The Sundari and Mangrove tree are found in - 43, .@N&% Hrg ELl i o § —
(A) semi desert forests (B) Tidal forests m (A) o g6 9t % (B) waRIA i q
(C) Tropical evergreen (D) Monsoon forests o) (C) 9w Hfeariy (D) H=REA a4t 3
forests nd HEER A1 A
44. Balaghat, Chhindwara and Jhabua districts of «— 4. TRy & drende, BeEarer AR BIES1E foret
Madhya Pradesh are known for the production w o ¥ @ fra @il & Samed &g o
of which of the following minerals? NI
(A) Copper (B) Manganese o W dfan (B) Hst
(C) Mica (D) Bauxite o (C) args (D) dfaaTge
45. Which one of the following (Lake — State) is not 23. frfafad § & #9 w (@e — o) gatad
correctly matched? % e 27 .
(A) Lonar - (B) Chilka - Odisha &N (A) dFR — R (B) faewt — aifsEm
Maharashtra p.7% qefiwe — Ffes ST
(C) Pulicat - Karnataka (D) Bhimtal - . w = s
) Uttarakhand
46. \What is the decadal growth rate of population @) 46- T=IUMT 2011 & SR, YN H TAHET
in Rajasthan according to Census 2011? m D WD gy R T Y
(A) 32.97% (B) 28.44% N (A) 32.97% (B) 28.44%
(C) 28.41% ' (D) 21.31% o (C) 28.41% (D) 21.31%
47. Which one of the following (Lift Canal - 23. frfafad # 9 &9 @1 (fove ey — annfaa
Beneficiary Districts) is not matched correctly? m forer) gafera =gt 87
(A) Kunwarsen - Ganganagar, Bikaner (M) {RAA — TR, fHFR
(B) Kumbharam Arya - Jaisalmer, Barmer (B) FRIRM AT — SIIGHR, qISHY
(C) Dr. Karni - Bikaner, Jodhpur (©) Sf. TR — PR, TR
(D) Jai Narayan Vyas - Jaisalmer, Jodhpur (D) W1 AARKIV ART — SINTelR, TIEYR
48. Which of the following sand dunes, develop in 48. fr=fafad § @ S | qgdT wqu. e
the parallel direction to the prevailing wind? g @) e & wrmR feiia 8 87
(A) seif (B) Parabolic (A) Arw (B) tRraifers
(C) Barkhan (D) Transverse (C) @™ (D) arwRe
49. The Kalaguman and Tikhi area is known for the 49. CARINUIE] AR R & e SRICH
production of - T 9T W |
(A) Garnet (B) Emerald (A) e & (B) g=11 &
(C) Calcite (D) Soapstone (C) BewTge & (D) HiTT TR 3
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Rajasthan’s only- terrestrial Meteorite Impact

Crater (MIC) is located at -

(A) Ramgarh, Baran  (B) Ramgarh, Alwar

(C) Ramgarh, (D) Ramgarh, Sikar
Jhunjhunu

‘Which one of the following (Wildlife Sanctuary

- District) is not correctly matched?

(A) Sorsan - Baran (B) Van Vihar -

Dholpur ~
(C) Band Baretha- (D) Kesarbagh -
Bharatpur Udaipur

According to Koppen's classification, Jalore,
Sikar, Nagaur and Jhunjhunu are included in
which of the following climatic region?

(A) Bwhw (B) Bshw

(C) Bwkw (D) Bskw

Arrange the following Mountain peaks of

Rajasthan in descending order according. to

their height -

(A) sajjangarh — Lilagarh — Raghunathgarh —
Jarga

(B) Jarga - Raghunathgarh - Sajjangarh —
Lilagarh

(C) Jarga - Lilagarh - Sajjangarh —
Raghunathgarh

(D) Raghunathgarh - Jarga — Lilagarh —
Sajjangarh

aﬁm%aﬁﬂa@ﬁzaﬁ

50. Yo &l
© e g © T W
m.;ﬂﬂ@@mn@%ﬁﬁﬂ%zﬁz&l

foren) R 8?7

(A) e - A (B) a7 RER — e
(C) 1 arRaT — WA (0) P AT — TR
52. P @ ey AR @ TR, SN,
%ﬁ.%%&ﬂnﬂ@@dﬂﬁwﬂm
Serarg W # Wi &7
(A) Bwhw (B) Bshw
(C) Bwkw (D) Bskw
53. Yo # FrefaRed i Afedl B SR,
B AR JARIE F § AR BTG —
A>Zﬂﬂ_m|%mqa|§|mﬁ=

(B) ST — RYARITG — HoulA71G — llelliTg

(C) SR — TG — FouTg — YRS

(D) REARATE — TR ~ WG — Aooi TG

58. As per Census = 2011, in which districts the

percentage of Scheduled Tribes in total

population is found least in Rajasthan?

(A) Bikaner and Ajmer (B) Nagaur and Churu

(C) Bikaner and (D) Churu and

Nagaur Ganganagar

Which one of the following districts, is the

largest producer of feldspar in Rajasthan?

(A) Ajmer (B) Nagaur

(C) pali (D) Rajsamand

Which one of the following rivers is an example

of superimposed river?

(A) Ghaggar: (B) Mahi

(C) Banas (D) Jakham

Read the statements carefully -

I. The Advocate General Office of Rajasthan
came into existence on the formation of the
State of Rajasthan as per the
State zmoqmu:mumzo: Act, 1956.

Il. G.C. Kasliwal became the first Advocate

General for the State of Rajasthan.

Which of the following option is correct?

(A) Only statement | is correct T

(B) Only statement Il is correct W

(C) Both statements | and Il are correct

(D) Both statements | and Il are incorrect

SAMAI-2011 B AR, o & T
Rrai # s wonfa &1 R @1 B
Sy wa® .9 o w87

(A) SR 3R TR (B) AR 3R 7%
(C) §R 3k AR (D) & 3R TR
frefafad § @ e wr Rrer, woem T

T PIUR IUTGH &7
(A) 3R (B) MR
(C) gy (D) IToTHE

frefafad ARl § 9 @19 sraRifud 41 &1
FETERT &7

(A) R (B) HTE
(C) g9 (D) SIgH
HAl BT EFdE ey —

1. TSR &1 HETiigar draterd, Iea gaied
AR 1956 & ITER, IORUE 5T B
TS WX ARTd :
# amar |
TR A v | o1 s e 2 1 o B T )
HETeaar & |
=1 4 & B R w8 87
(A) Baet S | FEI'E
(B) Tael FoF 11 TET B
(€)1 7 NeHT P |el &
(D) | @ NEHT FoF TTag &

Which one of the following districts has 54 = 2021 & <WM, fret § @ R R 3 )
received abnormal (60% higher than normal) ST (6 ¥ 60% IRT) A 522 . 62. For how many months can a person remaina 62 IONIM fAuEEHT @ Wew W@ A @

rainfall, during monsoon 20217

aifad fba 78N 9% Yo § A U8 TR

- . (A) qrarsT (B) Hiy ) Minister in Rajasthan, without being a member
(A) Banswara (B) Sikar © 7% 7 arei m of the Rajasthan Legislative Assembly? Y€ Hodr &7
i . @ Canmes - ' (A) 3 months (B) 4 months (A) G 789 (B) IR wEN
. H’._Vm >qmmo_m colis *ozzaa_m.w ) : . Wwﬁ% Mﬂﬁg R o (C) 6 months (D) 12 months (©) B: wEM (D) 9RE HEM
Jaipur, Dausa, Kota, Baran, Bundi M._mmﬂ . 3eTaX(B) ier, aRi, ) § Which one is not correct about the Emergency ST T B o B A S ae
A ' ) Provisions? BT TG Tl 87
(C) Sirohi, Pali (D) Jaisalmer, Barmer (©) RRIE), areh § . (D) Sy, areii & (A) Under Article 352, Emergency can be - (A) 3T 352 @ e, Foias
86. Which of the following district holds the  56. fr=ifeifa % & frd Rt ¥ atea RIS announced only on written advice by the fafea weafd & R W & amr o
maximum reserve forest area? 7 &7 27 , Gabinet. . . 8l
(A) Sirohi (B) Udaipur (A) RRYE (B) ST (B) Emmamqﬁ rule can be imposed in any state (B) wrszufyy e el wrwa o aifdreaw 3 ast
(©) Karauli o) C) it ) for maximum 3 years. Td AN 8 Tl 2 |
’ i e (O ari " (C) president rule has been imposed in (C) Uy e o Wy & 4 4R Ay
57. ‘Dohad Yellow’ is improved variety of which 57 ‘2lgz et fbg G B I fre 27 Rajasthan state 4 times.
crop? L ) el |
D) The term ‘Armed rebellion’ was inserted i 2 :
(A) Sugarcane (B) Gram o q_ﬂ: (B) = A szﬁw the Constitution by the 42 B4 &N A v fagie
(€) Wheat (D) Groundnut ° © I (D) feresly P, T el T |
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.64. What is the new name of ‘Atal Seva Kendra'? 64. 'y dl
(A) Jan Suvidha Kendra (B) Gram Suvidha & s (BT @ES b=
Kendra (A) ST gfae NS Jofra i
(C) Gram Vikas Kendra (D) Rajiv Gandhi Seva (©) 7 far %
Kendra R e F =i
B5. At present the number of Judges in the 65 T T 4 o 9 : .
Rajasthan High Court is - g T gi.ai sus
(A) 30 (B) 40 (&) 30 ”s -
(C) so (D) 60 (C) 50 .
&aa e Ao
66. Rajasthan Government has increased the MLA 66 ol ¥R®R  faed® iy oy
fund for the Financial Year 2021-22, under the 4 2021- Nu.nw ford, faemae® gt
MLA Local Area Development Scheme upto - g -
(A) T3 Crore (B) 4 Crore (&) 353 () 43S M
(©) T 5 Crore (D) 10 Crore (€) 5 7S (0) 107
67. Before becoming the Chief Justice of the 67. YroTverE S HHEE & = m_w mmw_m Eaal
Rajasthan High Court, Justice Pankaj Mithal ¥ uge, wiRcw dee MU $E1 & =
was the Chief Justice of - =T 9
(A) Patna High Court (B) Madras High Court (A) =T 9= IraTad (B) ST Sed ey
(C) Guijarat High Court (D) Jammu and (C) TR 9= (D) TH-FHTR Sl
Kashmir High Court =qrare’d RRIEn
68. Choose the wrong pair (State Name - Number 68 ffafiad # werd g™ Aﬁa GBI AH —
of Members of Legislative Assembly) from the g gedll & we) el m.ﬂa _
following —
(A) TR - 60 (B) FETerd — 50
(A) Manipur - 60 (B) Meghalaya - 50 ¢ .
(©) Mizoram-40 (D) Sikkim - 32 (C) foriie - 40 ©) fifam - 32
69. Which of the following statement is incorrect? 69. = # § THIWT FUF T 87
(A) Part VI of the Constitution contains Article (A) g & 9T VI H, ﬁmﬂ@d 152 9 w0
152 to Article 237. 237 Ifaa €1
(B) Part VI mainly focuses on the State (B) W VI = Y ﬁ S
Government. 3 .
c i ivided into six chapters. -
Mow ”M” «____“Mchﬂ”mmwhﬂ_z“z”_:onmm_m Eﬂ: the (©) AT VIS B: sl § fana 21
Union territory. () ART Vil B wew ¥ W 21
70. Which Article provides a Uniform Civil Code for 70 &I=¥1 @@ ARaT @ frw was qar Rifder
the citizens? Hfedr BT Iuay ey £?
(A) Article 42 (B) Article 44 (A) @ 42 (B) sya 44
(©) Article 43 (D) Article 45 ~ (©) s 43 (0) arpede 45
1. When was the Wealth Tax first introduced in - 71- WRd ¥ W&ol aR Wy av g qur fpar 707
India? or?
(4) 1991 (8) 1948 (A) 1991 8 o4k
(C) 1976 (D) 1957 (©) 1976 (D) 1957
1318 AN Page 10 0f 24

72 The base year for the current series of National 72 IS1d 3T i@l &1 ar MR a9 —
income Accounting - (A) LT3N, T 2004-05 ¥ dGABY 2011-12
w fear 8
(A) €SO has changed from 2004-05 to 2011-12 (B) MTwal, ¥ 200506 ¥ TEAFY 2011-12
(B) €S0 has changed from 2005-06 to 2011-12 X fRar &
(C) RBI has changed from 1999-2000 to 2004- (€) IRAIME. 7 1999-2000 ¥ TIABY 2004-
) _ 05 o far 2 .
: (D) JRAT3E. 7 2004-05 | gEerdy 2011-12
(D) RBI has changed from 2004-05 to 2011-12 P fear &
73. The core concept of the Eleventh Five Year Plan 73 ﬁﬂw‘& Ugq¥g AT @ HA  AEERON
was -
(A) Growth E_n: social justice and equality .3 ﬂﬂiwmm =g iR A & e fadra
(B) Human resource development (B) 711 o faar
(C) Human well being (C) ArId erTs
(D) Faster and more inclusive growth (D) Tt 3R v FAATN Eﬁ_ﬂ
74. Which of the following is a most likely 74. Frefafad # 9 H THIGd YTAHE gEHH
consequence of implementing the ‘Unified (@damE) o A I BT GeE GIfad
Payments Interface (UPI)’? gRomq 27
(A) FDI inflows will drastically increase. (A) THE1aE. yars # W gfy |
(B) Mobile wallets will not be necessary for (B) 3f-cirgs Y7ae & fog Hiage dfcle &
online payments. STeRA el 8r| :
(C) Direct transfer of subsidies to poor people (C) Tal 1 Afewdt FT Wen AR qgA
will become very effective. PRI BT |
(D) Digital currency will totally replace the (B) T < vl & Refvted 7a1 ot e @
physical currency in about two decades. Hifa® q&T B 8 o oy
75. Inequality of Income can be measured by — 5. 319 1 IAFHAT DY HIGT O Ghell & —
(i) Lorenz Curve (i) R~ 9%
(ii) Gini Coefficient (i) Rt ot
(iii) Poverty Line (iii) TS Y@
(iv) Relative Poverty (iv) TUer TR
Choose the correct option - el faweq T -
(A) only (i) (B) only (i), (ii) and (jii) (A) a4 (i) (B) @t (i), (ii) 3R (iii)
(©) only (i), (ii) and (iv) (B) only (ii), (iii) and (iv) (©) e (i), (i) R (iv) (O) Baat (i), (iii) 3R
(iv)
76. Yellow revolution is not related towhichof the 76 firg & ¥ Gl wify fpedy T e
following? e?
(A) Sesame (B) Mustard (A) Rt (B) T
(C) Gram (D) Edible oil (C) =TT (D) W o
77. Which one of the following state is the first 7. fr=foifr & & & @ woa W § Y
state to impose Agricultural Income Tax in IAER A T Tl o 27
India? s
(A) Madhya Pradesh  (B) Maharashtra v . ®) sErore; .
(C) West Bengal (D) Bihar (©) aftem s (D) fEw
131B 9 Page 11 of 24



78. Which of the following taxes fall under the

Code -

(A) 1 - (ii), 2 - (i), 3 - (iii), 4 - (iv)
(B) 1 - (iv), 2 - (iii), 3 - (ii), 4 - (i)
(C) 1-(i), 2 - (ii), 3 - (iii), 4 - (iv)
(D) 1-(iv), 2 - (ii), 3 - (i), 4 - (iii)

78, Pt & § @ W1 X AT R 3

(A 1 - (ii), 2 - i), 3 - (i), 4 - (iv)
(B) 1 - (iv), 2- i), 3- i), 4 -
(©) 1-(i), 2 - (ii), 3 - 24~ (iv)

(®) 1- (iv), 2- (i), 3- (i), 4.- i

District) is not correctly matched?
(A) panchna —Karauli (B) Mansi Wakal -
Dungarpur

(C) Orai - Chittorgarh (D) Gudha - Bundi

i 3 83. Rajasthan Jan-Aadhaar Authority Act, 2020 has 83. omelT STH-aMaR Wifereeer SfEfad, 2020
State List of Indian Constitution? T A F A o & come into effect from - Y gaT & —
(i) Stamp Duty ReTH Yo (A) 18" December,  (B) 3 March, 2020 (A) 18 fezreay, 2019 ¥ (B) 37T, 2020 &
(ii) Custom ®<
) Luxury T = feamar kil
. h h © 7% 20203 (D31 . 2020
(iv) m:nmnm._@m:ﬁ Tax Fe ¥ W SW B TN e May 2020 L Omam_%: i
Select the a er using the code given below - & e MN_. : : Rrai
(A) (iii) and (B) (i), (ii) and (iii) (A) (jii) 3R (iv) (8) (i), (i) 3 (i) 84. The correct pair of major mustard ﬁucn:ﬁ 84. Sroe H WHE WAl IeAEd a1 W
(©) (i) and %{Mu. (D) (ii), (iii) and (iv) (©) (i) R (iv) (o) (ii), i) 3R (iv) " districts of Rajasthan is - o~ IH ® -
79. Which one of the following is not considered to 79 Friferfaa # i $-arl & A IO T (A) Ajmer —Nagaur  (B) E_Am:mnl@.s.wm_smﬂ (A) 3PR — AR (B) dIBFR — SR
39
be n:m.::mm .u:mwmm of e-commerce? LRI ASIGIS, ) (C) Alwar —Jaipur (D) Karauli — STwai (C) aieR — IR (D) PR — S
(R) Reinvengipn (B) Preservation (A) gETet (B) wrefel AR
(C) Globaliz&tibn (D) Commercialization (C) —wSciTaRT (D) ATGAIGRT . Mzduopur )

80. The Hm_:ﬂ Finance  Commission  has 80. 153 forr g 1 RywiRa A1 & 5 Tt @ 85. The percentage share of Agriculture dgyGross 85. oTer @ Whd oy e dEd d AR
recommended that the vertical share of the e e e — . : State Value Added at constant Soml 12) (2011 — 12) ®Wel W a§ 2021-22 H (arforH
states be ket - (A) 2021-22 ¥ 2025-26 TF 41% Tl T prices of Rajasthan for the year 2024 - 22 s) PR W wEE & L
(A) 41% fromr2021-22 to 2025-26 . (B) 2020-21 ¥ 2024-25 TF 42% T WY : ) . & e &

(B) 42% frof2020-21 to 2024-25 [ i i i (Advance estimates) is - ~ _
(C) 40% from 2018-19 to 2022-23 (C) 2018-19 ¥ 2022-23 TF 40% I WY (A) 26.14% ®) 30.45% < (A) 26.14% (B) 30.45%
(D) 43% from 2017-18 to 2021-22 (0) 2017-18 ¥ 2021-22 T 43% Tl VI (©) 26.34% (D) 2885% < (©) 26.34% (D) 28.85%

81. National Food.Security Mission (NFSM) on wheat 81. ¥ U9 TR W U Wl GREr ERIE| ; - 5 86 . i
sl pulbes Wﬂwm tGhicked 15 Rajssthn i the (0 TRIT) TR S FRe b 86. |n.the ‘Jal Jeevan Mission Scheme’, ¢ fund . o @ fIw e Sfted favm aeEr
year - o~ T sharing pattern of the centre and m state P T 9T B AT HALT: F —

(A) NOO&I@ (B) 2007 - 08 () 2006—-07% (B) 2007 — 08 respectively for Rajasthan is - nO/u_ (A) 75:25 (B) 50:50
(©) 2008 - & (®) 2009 - 10 (C) 2008 -09 3 (D) 2009 - 10 # (A) 75:25 (8 50:50 &Y (€) 25:75 (D) 80:20
82. Match the Yg)lowing and select the correct  82. F=ifeiRad @1 ghfera @i wen | g U (C) 25:75 (D) 80:20 74 .
answer frome¢he code given below — T H W W I I - 87. In which year, Rajasthan’s first Hamdicraft 87 frw af # Xrower @l Ueell gwalicd fa
tt=1 kS Policy released? S @ TE?
Slicstigh) SEIrT A (®) 2018 (A) 2019 (8) 2018
(1) RajasthahState Chemical Works (1) ISR WE Bifder qav il 208 N
(3) Mewar %m,.: Mill (3) #aTS YR 88. As per the Industrial Park Rating SystemI(IPRS) 88. Fefgaa e T Red (IPRs) RUE 2.0
(4) J.K. nmam.m Works (4) V&, dAve aai Report 2.0, how many parks from @mzﬁ: INR, IoRAE H fhd gl @1 e @
Ust—1l oy kS are rated as ‘Leader’? N w9 H gl fear mar g7
Place +— ®IF A (B) 14 P (A) ® o
(i) Didwana (i) SrsaFm (A) 11 e 11 ) 14
(i) Dholpur (i) e (©) 17 : (b) 20 ) 17 (D) 20 .
(i) Bhupalsagar 89. Which one of the following (Irrigation Project - 89. famifaiaa # & @ (Ri=ng uRaiern —
(iv) Nimbahera

. forem) ifera T 22

(A) giEon —~ drell B) Al ardhd —

IRR
(C) 3irTE — fomiteg (D) a1 — g1

1318 A\
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90. RIICO has developed four Agro Food Parks
at—

(A) Bikaner, Jaisalmer, Kota, Dausa
(B) Dholpur, Alwar, Barmer, Ajmer
©) Jodhpur, Kota, Alwar, Sri Ganganagar

(D) Ajmer, Kota, Jodhpur, Jaipur

91. Union Transport Minister Nitin Gadkari

inaugurated and laid the foundation stone of 6

national highway projects worth 119 km worth
%2300 crore in which state?

(A) Madhya Pradesh
(C) Assam
92. Union

(B) Rajasthan
(D) Uttarakhand

Minister Mukhtar Abbas Naqvi

inaugurated the 5™ Global Film .,ﬁoc:mB
Conclave (GFTC) in which city in July 2022?

(A) Gujarat (B) Bangalore

() Mumbai (D) Jaipur

93. Which of the following countries is elected as
non-permanent member in the cz‘mmnczi
Council (UNSC), for the year 2022-23?

(A) Ethiopia (B) pakistan' - pa:

(C) India (D) Gabon

94. Who is the Chairman of Sixth Finance
. Commission of Rajasthan?
(A) K.K. Goyal (B) Dr. JyotiKiran
(€) Pradhyuman Singh (D) Manik Chand
Surana
In the Budget 2021-22 of Rajasthan, up to what
amount interest free loan was announced

under Indira Gandhi Urban Credit Card
Scheme?

(A) T 20 thousand
(C) % 70 thousand

95.

(B) % 50 thousand
(D) Z 1 lakh

@o.ﬁﬂ%%@ﬁma@g@aﬁ
Wl
(A) SRR, AR, BT, A A
Evmjﬂﬁ.mmﬂ.maﬂ.%ﬂ
(©) SR, Frey, I, AR &
(D) arviiR, e, S, SR A

P uRaed WA FRE TSE A g ey
¥ 2300 TS XA 119 FHEFIER B 6 vty

ot aRaer @ SFEeT AR Ricyg
far? .

(A) HeamrSeT (B) ISR

(C) argm (D) ITRIETS

92. iy WAl LR @ B A 5 W
g 2022 B UEd Teled e eRom
PG (GFTC) FT I fmar?

(A) TR (B) Freik
(©) Hag (D) SRR

9. f 2022233 fore, FefeRad & & @ 2w
T W W R NG (A A
st T & w9 % Praferr R T 82
(A) gforehfia (B) Wi
(C) W (D) Hgfq

E.ga@wmﬂ%&:%g&m%
&? _ :

AT Taa . (B) < waify R

(©) wer=t Riz (D) ifoyes =rws Gl
% IR B qoe 202122 3 mmﬂa%.ﬁﬁ

P BTE A1  freeht iy ey s A

FOT U A B wygoy ) 77

(A) 20 gwR 3 (B) 50 &I 2

(©) 7089R % (D) 1 9w 2

9. The objective of the A.nmuzsw Animal
Sponsorship Scheme’ is-
(A) Adoption of cows in gaushala to the general
public, institution etc.
(B) Adoption of wildlife of biological parks to
the general m:c_,o 5.&85:. etc.
(C) Adoption of the wildlife of the sanctuary to
the general public, institution etc.
(D) >mo._uzo: of the birds of birdhouse to the
general ._NEEE~ institution etc.
In the travel list of Planet D ‘The 16 Most
Romantic Cities on Earth’,- which city of
Rajasthan has been included in 2022?
" (A) Dungarpur
(C) udaipur

(B) Jaipur
(D) Jaisalmer
98. In which city, DRDO launched testing

evaluation facility on Sonar System of Indian

Navy? )
(R) Vizag (B) Port Blair
(©) Kochi (D) Thiruvananthapuram

99. Who among the following of Rajasthan has
been - honoured with the Pradhan Mantri
xmm:ﬁ,:ﬁ Bal Puraskar in January; 2022?

A.Z Kiran Sharma (B) Gauri Maheshwari
(©) o.mmn._r.m Gupta (D) Namita Singh

100. \What was the name of the cyclonic storm that
came in Bay of Bengal, in May 2022? o

(B) Gulab

(D) Fani

(A) Tauktae
(C) Asani

. defines a path

101. |p a file system, a(n) ...
. from ﬁ_._.m current directory.
(A) Root directory (B) Relative path name
(C) virtual path name (D) Absolute path
name

%. ‘Pfeg Thwa WERL @ P S

2 -
(A) Tirgrarren # T @Y oG, weer e @
Mg &A1
(B) 3% SaF! @ ggeid BY Ao, HEIl
anfe &1 Mg 211
(€) SPIRVE & IR BN A, a.g%w
BT M 37|
(D) welterelr @ TR} @Y SO, WRem e
B M A
97. oie & B TA gA T 16 AR JAMCD
Rrdre ot orf #, o @ fFE WER &I
2022 # wfdat foar mam 87 -~
) SRR LR -
(C) STIR (D) IR
98. G Ea, S M AR § AR e B
fore éﬁmﬂﬂ I e TR A I
BFoTe
(A) framT (B) UI¢ =R
©) Fif (D) faaagea
99. Yy & fEfelRad ® | fvd SaR), 2022
# W T 96 YR & S

T &7
(A) Rp=or Tt (B) T AR
(€) AT T (D) =#ieT g
100. 3 2022 #, 47Tl &1 WEY # AR AHa T
1AM 1 oq1?
(A) AT (B) Tetra
(C) s (D) Y

101. 76 gl Rived &, .. ERLIERECRCI |

(A) ®e STRag

(©) a¥foret T A (D) TeHieye TR W
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102,
A set of rules that govern all. aspects of

information €ommunication is called -

(A) Server (B) Internet

(C) Protocol (D) OSI model

103. po: S .
03. print quality of printer is given in .......... and
printing speed s givenin ...,
(A) Pages Per Minute (PPM), Dots Per Inch
(DPI)
(B) Chromatic Number (CN), Rotations Per
Minute (RDM)
(C) Dots Per Inch (DPI), Pages Per Minute
(PPM)
(D) Dots Per Inch (DPI), Rotations Per Minute
(RPM)
104. While working with MS-Word, which option is
not available in file menu?

(A) Print preview (B) Save

(C) Header & Footer (D) Save as

105. |, computer spreadsheet, which is true if

current or active cell is B4 and you pressed

Enter key?

(A) You will be inthe  (B) You will be in the
cell A1 cell BS

(C) You will be in the (D) You will be in the
cell B3 cell B6

106. Ethylene glycol is used - mm..

(A) as food preservatives

(B) in making punctures of tubeless tyres
(C) in detergent manufacturing
(D) as antifreeze
107. Which acid is present in Zmn_.m sting?
(A) Tartaric acid (B) Oxalic acid

(C) Lactic acid’

131B AN

(D) Methanoic acid
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102. <y R @ ol TRl A1 PRI gy
ford Pl 1 Wi eI & —
(A) e (B) gTwie
(©) detra (D) 0sI HiEa

103. ey @ e ORI B i L

(A) 3fsm W fie (PPM), STV TR §9 (Dpy)

(B) rfed Fa¥ (CN), IEUH W e (RPm)
(©) <few w g (DPI), IR W fAFT (PP
() e w g7 (oP), R R FrTe (RPM)

104. 709, o< & WY Bl A G9Y BT ey

wIge A Sl T8 wrar 87
(A) fire fireg (8) 97
© R T H (D) W7 U

105. v PR Wiedlle & @ Wl & af ada
ar Gfhy e B4 E 3R M Yex &) qard
# .

(A) 39 a7 A1 BRY (B) 39 Fer B5 ¥ gt

(C) 3y 9t B3 H gt (D) 3y et B6 F Ef

106. Selreeliv egaiel &1 T e oy & —
(A) @rer ufRerst & wq
(B) SZFeI SRRY & Yo a3
(C) fEexoive fmfor ¥
ﬁsnmmiﬂ&&@aﬁ& .

107. f=g % + @iar spr oRT STy 27

(R) eERE ame
(C) e aper

(B) sitaferes areey
(D) #eMzs arey

108. A wmau_m of 0.1g of water at 100°C and normal

pressure (1.013 x 105 Nm™?) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167.1 cc, the
change in internal energy of the sample is -

(A) 42.2 joule (B) 84.5 joule

(C) 208.7 joule (D) 104.3 joule

109. |mmunosuppressants such as.............., prevent
transplanted organs from -being rejected in
recipients,

(B) Calcitonin
" (D) Aspirin

(A) Cyclosporine

(C) Thrombin
110. Name the only combat ready fifth-generation
: fighter - 4 . )

(A) Lockheed Martin F-22 Raptor -

(B) Sukhoi PAK FA

(C) Chengdu J-20

(D) Lockheed Martin American F-35 Lightning Il

111. |n the following reaction, identify the salt

formed —
NH4OH (aq) + H2504 (aq)—= «..... ..+ 2H20(l)
(A) (NHa)2S (B) (NHa)3504
(C) NH4NOs (D) (NH4)2S0a
112. Match List — | with List— Il and select the correct
answer using the code given —
List—1 e
(1) Natural polymers .
(2) Thermosetting polymers
(3) Protein
(4) Thermoplastic polymers
List—1l
_ (a) Bakelite
(b) Polymer of amino acids
(c)P.V.C. S
(d) Starch and cellulose
Code -
. (A) 1-d, 2-b, 3-3, 4-c
(C) 1-d, 2-b, 3-c, 4-a

(B) 1-d, 2-3, 3-b, 4-c
(D) 1-a, 2-b, 3-¢, 4-d

113. Common bacteria used is genetic engineering

is -
(A) E. Coli
(C) Rhizobium

(B) Spirillum
(D) Diplococcus

Zard (1.013 x 10° Nm2) T

108. j00°c 3R wTHf® i
0.1 uﬂi&%ﬁHgonﬂﬁanﬁmw
@ fr0 54 Bt HuT it @ ravEHAl Bl
2| afy Sefea A9 P A 167.1cc &,
T A afaRd it ¥ e 2 -
. (A) 42.2 5[ (B) 84.5 S[c
(C) 208.7 5[ (D) 104.3 St .
109, FREATIUC ... , wferifrr 3
P wTadia W i g A B €
(A) Az (B) B
(C) enftga (D) faafT
10. g & forg dar dfadl G F1 TP AR
2

(A) difpdrs mfE F-22 ¥R s
(B) gwETE PAK FA Wm
. (C) =g J-20
(D) sifedrs e 3R F-35 AFeHT I
M. frfofad affrar & @ @ @@ @
g PIfg —
NH2OH (aq) + H2504 (3Q) = werevsnsrensst 2H20(1)
(A) (NHa)2S (B) (NH4)3SO04
(C) NHaNO3 (D) (NHa)2S0a
12, el — | @1 e - 19 e @i 9 R
Fe BT T BYd FE IR BN 9L B¢ —
i - |
(1) wTPfaF TETD
(2) dUGE AP
(3) WA
(4) ATIgECT 9gAD
g -l
(a) 9P
(b) 3rf 3l BT IgAD
(c) drarn.
(d) T Td Hegers
mﬁ, —
(A) 1-d, 2-b, 3-3,4-c  (B) 1-d, 2-3,3-b, 4-c
(C) 1-d, 2-b, 3-c,4-a (D) 1-a,2-b, 3-c, 4-d
3. g gofifaftn # uge &M aen W

A § — .
(A) €. PraTE (B) wrgRem
(©) (D) eI
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114. Which of the following statement is true about
Ozone?
(R) Conversion of Ozone to oxygen is an
endothermic reaction.
(B) Ozone is a triatomic linear molecule.
(C) Ozone has two double bonds.
. (D) Low level ozone (or tropospheric ozone) is
an atmospheric pollutant.

115. Which salt is used to remove the permanent

hardness of water? Sk,

(A) caocl; (B) NaHCO;

(C) NaCO0s. 10 H,0 (D) CaS0Oa. 2H:0

116. The population of a town is 6000. If the number

of males increase by 8% and the number of

females increase by 10%, the population will be
6500. Find the number of females in the town -

(A) 1000 (B) 1200
(C) 1100 (D) 1300

117. There are four numbers, Average of the first
three numbers is 15 and average of the last
three numbers is 16. If the last number is 19,
the first number is equal to -

(A) 14 (B) 15
€) 16 (D) 17

118. |f ratio of area of two equilateral triangles is
36:25, then ratio of their perimeters will be -
(A) 6:5 (B) 12:5
(C) 25:16 (D) 36:25

119. Choose the water image of the given figure -

O | &7

Q) (a) sirgi & aifedior @1 FHAIT T8 STy

N g . .

%Amvim@wﬂ%mﬂ@aéw_

N (©) s 1 foFw €W E
i) Al BT €|

%i%%iﬁﬂﬂ%a?aﬂ

mﬂgﬁg@sﬂi%

mw_u (A) caoCl> (B) NaHCO3

& (© Nacos. 10 H0
_mmﬁaﬂ%_%. 6000 &1 afe qoul &Y
¥ g A sy @ gfe A § R AR
@ T § 10% @ gfE B &, T ST 6500

(D) CaSO4. 2H20

o~

o FfeTg —

& (A) 1000 (B) 1200
&N (© 1100 (D) 1300

_ﬁ%ﬁgﬁmﬂiw;ﬁ%ﬂdﬂ%ﬁ
3 158 3R sifom i wesil @1 it 16
o & aft siftm @ 19 8, @ vem Hean SRR

O

nE B
P 14 (B) 15
N (€) 16 ==Y 17

mﬂggﬂﬁiﬁéﬁm%m
— & T g5 IRAT a1 a8 —

(A) 6:5 (B) 12:5

(C) 25:16 (D) 36:25
9. 2y ¢ o @1 ot ¥ vfifa gfie —

(2
(A) m

=
Em ;
:m

d) m
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120. 1f 9 + 7 =58 and 3 + 11 = 124, then 13 + 5 is

120. 7f2 94 7=5831R 3+11=124, d 13+ 5 &I

equal to - 8-
(A) 38 (B) 65 (A) 38 (B) 65
(©) 31 (D) 36 (©) 31 (D) 36

121. At simple interest, an amount becomesZ 1120 121 el @ol W U6 AR 4 a8 # 1120% 3R S
in 4 years and T 1200 in 5 years. The principal qf % 1200 ¥ & OH | ORA TR
amount is equal to - g -

(A) T 800 (B) 850 (A) 800% (B) 850%
(©) %750 (D) T 900 (€) 750% (D) 900%

122. An amount T 3550 is divided into X, Y and Z 122 ¢ If¥r 3550%, X, Y3k Z # 9 WK fmifor
such that three times of X's share is mnc@wOm HINEFE XD R ET ALY D
times of Y’s share and 7 times of Z’s shaggdX's R & g T R Z B R B W@ T B
share is equal to - _ ﬂ TR £ X BT Rw away & -

(A) T 1050 (B) T750 (2] () 1050% (B) 750%
(€) T1750 (D) T 1250 ﬂ (C) 1750% (D) 1250 X

123. Which one of the following diagrams nc_.qdmwz,\ 123. foy= ol ® & & a1 fas fede Raenfeat,
represents the relationship among CFicket < weet ok fYenfafai @ o daui @
players, Tennis fans, Students? e TR | e dxar 87
(n) . (B) D (A (8)

QD m aw
(C) @ (D) @ (@) (©) (D) @u
] &
124. Which answer figure follows the qufsjon 124 B0 IR ongpfa s ampfd @ a9
figure? il JTTIT?
of A © ¢ (@) A S ¢
e AQ M me AlC
m @ & @ % n @ @ @
Answer figures — I IR ARl —
(A) A ® [0 o (A) A ® 0
[ J [ J n‘“u @ ®
(€ [®) (D) 0 (C) 0 (D) 0
(@)]
A ® O A =)

125. Find the missing term in the following zmﬂ - 125. fyey R & g v s AR —

ac 28 4A 3 3¢ 28 4A ,
274 ?  64B i 274 ? 648 i
9C 4A  16B o 9C 4A  16B
(A) 88 (B) 125C - (A) 8B (B) 125¢C
(©) 8C (D) 1258 (©) 8C (D) 1258
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126. Anita is wife of Bhavesh and Chanchal is sister
of Anita. Dinesh is father of Chanchal, while
Ramesh is son of Dinesh. How is Ramesh
related to Bhavesh?
(A) Uncle (B) Father-in=-law
(©) Brother—in—law (D) Brother

127. Five students A, B, C, D and E are sitting in a
row. D is on the right of E. B is on the left of E
butis on the right of A. D is on the left of n Who
is sitting on the extreme left?

(A) B (B) E Wm

©c () A

128. What will come in place of (—)?

1,4,3,87,12,—,16,21
(A) 13 (B) 19
(©) 14 (D) 15

129. Statement - A man must be wise to be a good
wrangler. Good wranglers are
talkative and boring.

Conclusions - 1. All the wise persons are boring.
Il All the wise persons are good
wranglers.
(A) Only conclusion Il foliows
(B) Only conclusion I follows
(C) Neither I nor I follow
(D) Both I and Il follows

130. |n a certain code language, if the word ‘GOD’ is
coded as 78 and the word ‘GREAT’ is coded as
255, then how is the word ‘GIFT’ coded in that

‘language?
(A) 212 (B) 194
(©) 182 (D) 168
131B 9 Page 20 of 24

126. g, v A O T A, SENA ) g
¥ R dow 1 AR 8 TS L Ry
1 qa &1 T T W T §2

(B) ¥9X

(o)

(A) ==

(C) et

127. i faemdf A, B, C, D RE TH Ufdd § 43 g ]

D,E D aT$ 3K & B,E B 18 3R ¥ Afdw 4
@ Tff 3R ¥10,C & 9 AR B 1 W a3
iR Bt Yot 27 i
(OF: (B) E
©c (D) A
128, (1) & WM W e g
1,4,3,8,7,12,—, 16,21
(A) 13 (B) 19
(€ 14 - D) 15
_Mm.wﬁlaﬂmg%@ﬂ.ﬁwmw@aﬁ

A BT IFEE B ARY | o

FITSTE A1 3R 3919 B §)
gl..ém@ﬁﬂ@ﬂaﬂﬂﬂmm_

__.ﬁﬁmﬂﬂm_ﬂmﬁmm@ﬂdﬁ%@ |

i . .
() @aet Fepd 1| srgeor e @
B) B Fre | sreor avwer &
© a1 &R & 1 srpERT P @
() 1 3R 11 BT s By ¥
130. 5l e Wmr o afe ‘GOD’ ¥ FT Pe 78
T ‘GREAT' W1 BT B2 2553, at w1 ‘GIFT-
BT G I AT ¥ gy —
(A) 212 (B) 194

(©) 182 (0) 168

| ‘duw.dﬂmﬂmﬂﬂWI

131. 9y fivas G e 1 =09 Hiforg —
(A) & + zeror = deror .
(C) 3y + 3mrd = 3Py
132. g Rwed g —
(A) 9 — 3irga, =1, ST (B) @ — dreTe, STETUTY, HlY
(C) ¥ — reamror, e, ey () § — 3, wga, geid
133. “Rrr! UTel R fban @) Sa argie @ forg Sfaa u@ W g -

(B) g + Sfd = ayfa
. (D) W + IURY = AFIRY

(A) wRga (B) feqq

(©) e (D) wRYeT
.-ua.@.ﬁﬂdﬂdmﬂ.ﬂdﬂ_.mn@dl

(A) T @R F 2| (B) 3 |9 W MY 40 @ |

(€) IR 3 FX I3 | () g% # forg 7 TR |
135. H\T T HHIRY THI FT SRR 8] 87 | mm,.

(A) S (B) gTawR

() weTER (D) e
136. f5e & FU B Iga FX WA e v Rieg @1 w@ fean i 82

(A) frdem fore . (B) frwmfede fime

(C) gwars forg (D) araeRvT e
duq.éﬂ.awdwa.wﬂﬂﬁg&m|

(A) 7 fe@rd ger . (B) wfi—wit g

(©) JAu—= R (D) 3 YT HR <A

138. T fadhed o1 =TT FIRY — .
.Eﬁ@%@ﬁ?lﬁmﬂﬁgﬁﬂ
(B) X S FR # B~ v framfader
€ w81 — dfvaras M
(D) @ amar 3R H mar| — BRI fhafaiyor

(A) e 9 AR B fyem g AR
© e 7 APERT @ free 1 A
140. 5%y ey # ‘Fromaras’ M &1 FAMT TE gan 27
(&) # 3y & g SIS| (B) v 3 @ ' A e 2
€ ¥ 7% S A Ay FR | @) am N o & &
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ns— 145. ﬂ:oomm the alternative which best expresses the meaning of the Idiom/Phrase “Steal someone’s
thunder” -

as health. While health which (A) To take credit for something which someone else did

(B) To steal the peace of mind by constant nagging

(C) Auseless attempt

: llowing n:mmzo
Direction (141 to 143) : Read the passage carefully and answer the fo

: i od
" . Thereis no field of human endeavour that has been so misundersto ! .
is illness representing the failure of

connotes well- being and absence of illness has a low profile, i

A ty and death. ‘ . o
health which virtually monopolizes attention because of the fear of pain, disability - (D) To bring down a person who is acting smart
- pm—— 146. Give one word substitute for —
iy respected, r ) . .
Till recently, patients had implicit faith in their physician whom they loved and resp Bare minimum needed for survival )
) > . A e )
his knowledge but also in the total belief that practitioners of this noble profession, guided by ethics, (A) “sustenance . (B) subsistence
e o GsTERSI] (©) sustainable (D) supplement
: g 3 i ions. IS .o
always placed the patient’s interest above all other consideration 147. Choose the one which best expresses the meaning of the given word? (Effuse)
(A)  Absorb - . . (B) Transfer

y o i ailed till th
relationship between the physician, patient and family has, barring a few exceptions, prev e

ystem of medicine like (©) Augment * (D) Emanate

i idered as important as curing. Our indigenous s 7,
recent past, for caring was considered a p B s il

Ayurveda and Yoga have been more concerned with the promotion of the health of both the v.o% ) : ———ry , (B) Articles »
and mind and with maintaining a harmonious relationship not just with fellow-beings but with nature () We,will go to Calcutta by ................. Rajdhani Express.  (a) a L
) ) (i) The child was happy to see .................. aeroplane. (b) no article
itself, of which man is an _:"mm_‘w_ part. . . > ) :E. T —— . Fokday, T
141. Choose the word which is most opposite in meaning of the word ‘concerned’ as used in the passage. (iv) veeveerseeseneen. milk is good for health. - (d) the )
A ) anxious | | ®) (i), (i)-a), (ii)-(b), {iv)-(c)
. ! ©). (i)-(d), (ii)-(c), (iii)-(a), (iv)-(b) - ) (i)- (b), (ii)-(c), (iii)- (d), (iv)-(a)
(©) solicitous o periae ) ‘ : 149. Choose the correct answer from the given options —
142. Choose the word which is most nearly the same in meaning to the word ‘connotes’ used in the . Why did they puill down the building? (Change the voice)

! (A)  Why had been the building pulled down?

passage.
 (B) Whydid the building been pulled down?

(A) liberates (B) unfollows

(C) Why is the building been pulled down?

(C) except (D) implies s
143. In India traditionally the doctors were being guided mainly by which of the following? (D) Why was the building pulled down? .
(B) Professional ethics . 150. Choose the correct answer from the given options —

(A) Power over patient
(€)' High technology (B) Western concept of life Ravi said, | will bring the book tomorrow.” (Change into Indirect Speech)
(A) . Ravi informed that he would bring the book the next day.

144. Choose the correct English translation of the given sentence —

W T B W o 1w e 9 @ : (B) Ravi informed that he will bring the book tomorrow.

> " - b

(A) My father got a pair of shoes for me yesterday. . F . (C) Raviinformed that he would bring the book tomorrow.
B ir of sh . i
oA a4 . (D) Ravi ordered that he would bring the book the next day.

(C) My father bought me a pair of shoes yesterday.

(D) My father bring for me a pair of shoe yesterday.
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